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neral Instructions :

(i)  All questions in both the sections are compulsory.

(ii) Marks for questions are indicated against each.

(iii) Question Nos. 1-5 and 17-21 are very short-answer questions carrying 1
They are required to be answered in one sentence each.

(iv) Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 |
Answers to them should normally not exceed 60 words each.

(v)  Question Nos. 11-13 and 27-29 are also short-answer questions ca
each. Answers to them should normally not exceed 70 words each.

(vi) Question Nos. 14-16 and 30-32 are long-answer questions carrying 6
Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limi
adhered to as far as possible.
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SECTION - A '
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1. Define an indifference curve. 1

STAE FoF S G QT |

2. Name the characteristic which makes monopolistic competition different from ' ‘ ‘

perfect competition. 1
& P FaTEa St i UeiTIe MR S qur W & T R € | ~ 1
3.  Why is demand for water inelastic ? 1
T HT SRR e @ 7
4.  State one feature of oligopoly. 1
IR Y 0% Taoear Sy |
5.  In which market form demand curve of a firm is perfectly elastic ? 1

for wepR % SR & U HH T AT 956 qUTTr s e € 7

6. Distinguish between ‘increase in demand’ and ‘increase in quantity demanded’ of a
commodity. 3
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Explain the law of diminishing margmﬂl ity with the help of a utility schedule.’ |

Goods X and Y are substitutes. Bxplam the effect of fall in price of Y on dem:
X.
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reran |
X akYﬁnﬁwwaﬁéﬁ |Yﬁ%ﬁﬁﬁxﬁﬁwiﬂmm |

At a price of Rs. 5 per unit of commodity A, total revenue is Rs. 800. When its ‘

rises by 20 percent, total revenue incredses by Rs. 400. Calculate its price elastic
of supply.
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Explain the implications of freedom—-o,f' entry and exit of firms under perf
competition.
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" Given below is the cost schedule of a fn'm Its average fixed cost is Rs. 20 y
produces 3 units. '

e
v

Output (units) . 1 2 3
Average variable cost (Rs.) | 30 28 132

Calculate its marginal cost and average total cost at each given level of output.
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Explain the problem of ‘what to produce’

OrR ~
Explain any two main features of a centrally planned economy.
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12.

13.

14.

15.

16.

When the price of a commodity falls by Rs. 2 per unit, its quantity demanded
increases by 10 units. Its price elasticity of demand is (=) 1. Calculate its quantity
demanded at the price before change which was Rs. 10 per unit.
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Explain the effect of increase in income of buyers of a ‘normal’ commodity on its
equilibrium price.

T G & & STl Sl 3T § ghg o ITH Welold ST 9T UNTE i A ST |

Using indifference curves approach, explain the conditions of consumer’s
equilibrium.
SR a6 fafy g SUiea & Fqer i 91l St T HT |

State whether the following statements are true or false. Give reasons for your
answer.

(a) When total revenue is constant average revenue will also be constant.

(b) Average variable cost can fall even when marginal cost is rising.

(c) When marginal product falls, average product will also fall.
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(37) T FeT AT e Bl & o e W ot R gt |
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Explain the law of variable proportions with the help of total product and marginal
product curves.

OR
Explain producer’s equilibrium with the help of a marginal cost and marginal
revenue schedule.
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For Blind candidates in lieu of Q. No. 16.
Explain the law of variable proportions with the help of a total and marginal product
schedule.

OR
Explain producer’s equilibrium with the help of a marginal cost and marginal
revenue schedule.
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State the components of money sﬁpplﬁ
T Yl % T Ay |

Give the meaning of ex-ante savings.

WIS e &1 379 94T |

How is primary deficit calculated ?
yrafie T 1 uiieher S fopar ST & 2

Give the meaning of deflationary gap.
HATHITH SR T 37 FATRY | )

State rwo sources of supply of foreign‘exchange.
fereft farfrerar =t gty % 37 Bt e |

Explain how distribution of gross domestic product is its limitation as a
economic welfare.

OR

Explain the basis of classifying goods into intermediate and final goo&}
suitable examples.
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Explain the ‘lender of last resort’ fwon of the Central Bank.

Hew can Government budget be Wul in altermg distribution of mcomaL
economy ? Explain. :

wmwﬁma;maammﬂm@mﬁmmmaf |
HHSART | '

Explain the meaning of deficit in bma' payments.
Y S | OIS T 37 qHeeY |

Distinguish between devaluation an

i .of domestic currency. | b
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27.

28.

29.

30.
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Explain the process of money creation by Commercial Banks.
OR
How do changes in bank rate affect money creation by Commercial Banks ? Explain.
Fforfsaes sreni g T[T T 6t Al THERT |
A4
I X | UREe aforres S5 gRT 951 Fmior St R wefad wRa € ? gHeey |

State whether the following statements are true or false. Give reasons for your
answer :

(a) When marginal propensity to consume is greater than marginal propensity to
save, the value of investment multiplier will be greater than 5.

(b) The value of marginal propensity to save can never be negative.

FATRT (=TI 9= Wel € 1 TTea | 379 IR & ey shror off i |
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Distinguish between :

(a) Capital receipts and revenue receipts.
(b) Direct tax and indirect tax.

frfofiea # v #if :

(31) i wnfeerat SR T it
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How will you treat the following while estimating national income of India ?

(a) Dividend received by an Indian from his investment in shares of a foreign
company.

(b) Money received by a family in India from relatives working abroad.

(c) Interest received on loans given to a friend for purchasing a car.
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From the following data, calculate (a) Gross Domestic Produét at Factor Co*t
(b) Factor Income To Abroad :

(Rs. in 000 crore)
@) Compensation of empldyees ‘ . 800
(i) Profits 200
(iii) Dividends - 50
@iv) Gross national product at market price 1,400
) Rent . 150
(vi) . Interest S A 100
(vii)  Gross domestic capital formation 300
(viii)  Net fixed capital formation 200
(ix) Change in stock ' 50
(x) Factor income from abroad | 60
(xi) Net indirect taxes ’ | ; 120

OR

Calculate Net National Product at Factor Cost and Gross National Dis:
Income from the following : o

(Rs.in crore)
@) Saving of non-departmental enterprises 50

(ii) Income from property and entrepreneurship
accruing to the government administrative

departments . 70
(iii)  Personal tax 90
(iv)  National debt interest | 20
(v)  Retained earnings of private corporate sector 10
(vi)  Current transfer payments by'government 40
(vii)  Consumption of fixed capital 60
(viii) Corporation tax ' 30
(ix)  Net indirect-tax 80
(x) Net current transfers from rest of the world (- 10
(xi)  Personal disposable income - | 1000

4




frfofas simst 9 (31) FR® A W gFer 90T IO 3R (F) R # FRE AE =

e HIfT
(3. 000 Fg H)
@) FHERE w1 aREfrs 800
(i) ™ 200
(i) e 50
(iv) SR FHT W T TLG IS 1,400
(v) o 150
(vi) = : 100
(vii) w3 eI fomtor 300
(vii)  feer wewt i fmior 200
(ix) e fiEda 50
(x) ferwl @ ®R® o 60
(xi) oot ey W 120
AYar
el & wre ara W e T Saar qo0r S TR TN S e Fi
(FT5.)

(i)  WR-faaria samt o T=d 50
(i) R yeTai favmt s et qur sameta @

e A1 70
(ii) dafew W 90
(iv) T O R A 20
(v) Tt fmfire g =6t ufaaia s 10
(vi) TR R YR (ATe]) EAaror 40
(vil) TS oIt T SUHI 60
(viii) = 30
(ix) oo sy = 80
x) A fava @ Fraer iR (Ie) eeiaRor (=) 10
(xi) Agfeae WEST T 1000

32. In an economy 75 percent of the increase in income is spent on consumption.
Investment is increased by Rs. 1,000 crore. Calculate :
(a) total increase in income
(b) total increase in consumption expenditure.
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